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410 Rolling cylinder

A cylinder with mass M and radius R is re- \mh‘"
leased from rest at the top of a track with height
1.5m. It rolls without slipping. Determine the
speed of the cylinder at the bottom of the track.
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405 Toppling rod versus freely falling ball, 1

A rigid rod with uniformly distributed mass M and length
L can pivot about a frictionless axle in a horizontal sur- ' Qo
face. The rod is held at rest with one end height i above

the surface. A ball with mass m is also held at rest along- h
side the tip of the rod. Both are released at the same time. \

(131F2024)

a) Determine the speed of the ball just before it hits the horizontal surface.
b) Determine the speed of the tip of the rod just before it hits the horizontal surface.
¢) Which hits first?
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